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Z00LOGY

[GENERAL]
Paper : 11

Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

Answer all the questions.

1. a) Answer the following (any ten): 1x10=10

FEFReukr Teg wie (@i wib) ¢

1)  What is the function of neurotransmitter?
FeEGERBIEE Fie e

11)  Give one example of structural protein.
ZIFERE (AR @0 Srizgel mie |

ii1) What is glycogenolysis?
ARCHICGEETRRR F 2

iv) Define spermiogenesis.
~ARRSTEEER e 716 |
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v)  What is ooplasm?
T2 F 2

vi)  What do you mean by morphogenetic

movement?

TRCFICSTADS O 0 O F (@RI 2
vii) Define Mortality.
A& M8 ¢ IR |

viil) What is in situ conservation?
IS w1k

ix) Name one endangered mammal of India.

OIS G ey d e wil eidE s @74 |

x)  What is speciation?

ST 2
xi)  What is homonym?
RIS Fl 2
xii) What is 'era'?
RIS
Answer the following (any five):  2x5=10
frsferie emefer T wie (@- et siof) ¢
1)  What is Taxonomy?
GrCEe 12
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iii)

Vi)

vii)

What do you mean by optical activity of

sugar?

“Fq17 ST Srshie T e ol F @i e

State the function of pyruvate

dehydrogenase.

Azwres TR wifEee 9a Fe Jie

What is isolecithal egg? Give example.

SEEICERTINE Rl F e Twizge nis |

State two important causes for biodiversity
loss.

Gltaibcar feifen 126 wwgsid Fie Tra
Rl

Name two greenhouse gases.

w3 fb ATRICH ST I (+74 |

State Biological species concept.

Geifes aeif giaat S 791

UNIT-1

GPP->
Define Biodiversity Hotspots. What do
you mean by species richness? How many
Hotspots are present in India and give their

names. Write down the different values of

biodiversity. 2+2+2+4=10
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ARTCIZSTRAD 257>I0H Fes! wie | eerifos
APeTS] 00 S (I 2 SR G2 Fofe]
25795 SI(R 2 Olvd 1IN &4 | Giaafbears e
aFgafe @4

What do you mean by solid waste? What
are the major strategies for solid waste
management? Write down the process of

solid waste management. 2+2+6=10

o TETIE IE00 G F (@RI 2 Floel SARGTI
QI gl T e 1 2 Ffo ot
JAZIA FreiE Tl =72

OR / 512991

What are the characteristics of a

population? What are the differences
between absolute and relative population
density? What is 'Lincoln index'? Write the
process for measurement of relative
population density. 3+2+2+3=10
A TR AT 1 F 2 HI G SN
TR Al afeT I Fh e forcde zce e
oA Gaeg W A& 7ICF @12 |

Write down the different levels of
biodiversity. State the major causes of

biodiversity depletion. 5+5=10

GRabcara ffen waele @1 |Gk 2o
g FRIRT T F4|
[4]




b)
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UNIT-1I
QPF-]
State the relationship between Taxonomy
and systematics. What is binomial and
trinomial nomenclature? Give example
(scientific name) for each.
4+(2+1)+(2+1)=10
B @R PRI A~ F2 faom
@3 fqom g0l F1 2 efolba @weg @3l
Trizge wie (Reeepre =) |
Define Hardy Weinberg equilibrium. What

are the implications of this principle?
Describe the salient features of this
principle. 2+3+5=10
2IfS-Tamalsl SRPIGIR KRS WIS | @3 e
IR g 2 G2 I0E (ARt e

4|

OR / 923t

Write a short note on Abiogenesis. What
do you mean by biochemical origin of life?
What is coacervate? 5+3+2=10
ST T ev7 (@6 G @4
GIRGrsed (SRAMRE Seoife FeTce o H
Q@RI ? FRPTCSE 2

Define species. State different categories
of species. What is Allopatric speciation?
Describe theories of speciation.

2+2+2+4=10
[5] [Turn over]
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gifed e e | aeifen [fer Kets Sm
9| STl ewifesad Fe awifewacd

Tgufer I 4 |
UNIT-III
GFF-9

What is the difference between aldose and
ketose? What do you mean by reducing
and non-reducing sugar? Give an example
in each. What is glycosidic bond?

4+2+2+2=10
SISl ¢ RGItes ey Al F e K
8 TS *F4! FEI00 N F (@Rl 2 Afoba @
T TRl 0l | ARINEICT el 2

What is glycolysis? How many molecules

of ATPs are produced in glycolysis?
Describe the ATP production stages in
glycolysis. 2+2+6=10
BT F 2 ANBCHIAIROP T &g ATP
Codl 2 2 ARFEIRGEE ATP Sesmeas
sifRef ¢ 741

OR / 923t
What is thermogenesis? Describe the
countercurrent heat exchange mechanism

in mammals. Add a note on thermostatic

[6]
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regulation of body temperature in

mammals. 2+4+4=10
STl 2 B AN FICHE FIEO

SIS STl F-2vie siafod e wie | B
ANV = AE OIPAE SloZIoF I T2l
9 Il =12 |
What are

repolarisation? Define spike potential.

depolarisation  and

What do you mean by saltatory
transmission? What 1is chemical
transmission theory of nerve impulse
propagation? (2+2)+2+2+2=10
fCroeTRIRE™ @ RsileRizre=a J 2 =iz
CHATGATMIRICETR A< TS | FPEAGEE G
TS O F (@RI 2 TR S AL
I oet F 2

UNIT-1V

FP-8

What is gastrulation? Define fate map.
Describe the process of gastrulation in
chick with diagram. 2+2+6=10

AGETH F 2 (F6 oA A<t Wi | oz
YR AGETA Aafoq 3¢ 7ie |
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Write short notes on the following:
5+5=10
<R Biel @14 ¢

Oogenesis
TreP
Teratogens and embryonic development
GRAGICE R GO ARTEo

OR / 923t
What is primordial germ cell? Describe
the process of spermatogenesis. Write

down the significance of spermatogenesis.
2+6+2=10

T G (T D2 SATNGIEE PP Awhe
31 9 | 32 Ol @Y |

What is fertilization? Describe the
process of nuclear fusion in fertilization.
Add a note on the significance of

fertilization. 10

s Fe e W w@@lq e TRl
fTefgior fNem smmfe a9 e | [
Sleo @14 |



